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UNIT #1 — FUNCTION TEST REVIEW
Part | Questions — Multiple Choice

1. Which of the following sets of ordered pairs would not be considered a function?
]
(1) {(-4.1).(-L, 7).(3.8).(5.3)}

. l
@4,5},(6,1},(4,10),(5,—1)} X Cant f"—f@d’t
(3) {(2.8).(4.10),(6.8). (8, 10)}
@) {(=3,5).(3,-5).(-6,7),(6,~7)}

2. In the following graph, the heig{lt of an object, in
feet, is given as a function of time in seconds. Which

I(Jlt')tlf; f;‘.)]llowing would be the range of this function?

2) [0,11]
(3) [176,576]

—=Ti
U, 5'?6] 5 me (sec)

3. In which of the following four graphs is theou@mmtaﬁmenancfthe input?

Helght (10 (5,576)

N Y alves

(0,176) ¢

» ¥
e, ..\_...I AL F ¥
T | aaaenaansna il mmmni)
5 i "ﬁn.-!-:_p'.'. 7 @ * T |

N / I’EE . H
ﬁ aas. sl ¥ T
1 T H-
-‘_‘ i - ]

BEDEE B
1l 1 i
g "k i l
4 I f(x)=~ 102
M1 :

5.




6. Given the function £ (x) shown in the graph below, for which of the following intervals is f(x)>0?
¥

3

(1) (0,8)

@) [-4, 6] . .

x—7 )
2x+5

7. Which of the following values of x would ot be in the domain of the function f(x)=
Perom £ O
(1) 7 s B) =35

| L X4+S= 2’& :-__s_: :’g
G =T zxrss-? T =2 ¢ 2

8. If the point (4, ~2) lies on the graph of y =  (x), then which of the following points must lie on the graph
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11. Which of the following is the equation of the inverse of the linear function y =4x-27?

| )
@=1x+5 (3) y=—4x+2 y.-sw T

1 x+1 ""_xl
TS @y=-trs M

1 Maeate following is the equation of the piecewise linear function shown below?
y

+4 x<2 A j
& f(x)={;x-+s i::
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L 3x=3, =23
f fead koot

4 f(x)=1 Fosh 8e10
C\)f( ] h:;’ ; f_1. Hr;;}i' l_. 1 ] S
13. The graph of ion and the graph of its inverse always have symmetry across
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15. Given the function y = f(x) shown below do the followi

(a) Graph the function’s inverse, /' (x).
O~ grep \

(b) State the range of £ (x).

P ‘=

-4
(c) What is the value of £~ (=3)?
-<

16. Given the linear graph shown below answer the folls

(a) Write the equation of the line in y = mx+b form.
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